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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2017 

 

Subject Name: Estimating, Costing & Contracting  
 

Subject Code: 2TE06ECC1    Branch: Diploma (Mechanical) 

    

Semester: 6       Date:  17/04/2017  Time: 02:30 To 05:30   Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  What is the full form of D.G.S & D? 

(a) Directorate general of supplies & disposals 

(b) Director of general supply & disposals  

(c) Director of general supply & dissipation 

(d) None of this 

1 

 b)  In which type of contract responsibility given to the contractor to supply man- 

power 

(a) Labour contract  (b) material contract  (c) Schedule Contract  (d) All above  

1 

 c)  The component of total cost which never changes with change in level of 

production is classified 

(a) Overhead Cost   (b) Variable Cost (c) Fixed Cost    (d) Total Cost 

1 

 d)  If the selling price is $20 per unit, number of units sold are 800 and total cost of 

production is $10000 then the profit is equal to 

(a) $16,000    (b)    $40,000   (c)    $6,000   (d)     $5,700 

1 

 e)  What is the equation of Sales & Revenue cost? 

(a) S = b×Q    (b) ) S = b+Q      (c) ) S = a×Q     (d) None of this 
1 

 f)  Salaries of staffs & watchmen, Insurance premium, Rent of building is example 

of …? 

(a) Direct cost     (b) Fixed cost     (c) Variable cost     (d) None of this  

1 

 g)  Point at which Sales & revenue line & Total Cost line is intersect is known as 

‘‘No Profit & No Loss’’ is it true? 

(a)  Yes                        (b)  No                     (c)  cannot say       (d) None of this 

1 

 h)  The quantity of manufactured goods sold at which the total cost equals to total 

sales revenue is classified as 

(a) Breakeven point    (b) Selling point   (c) Revenue point    (d) Quantity point 

1 
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 i)  What is the equation of straight line method where N-life in years  

(a)     (b)    (c)     (d) None of this 

1 

 j)  Welding time can be found by 

(a)         (b) Welding length in m welding speed in m/hr. 

(c)          (d) None of the above 

1 

 k)  What is the equation of contribution ratio in B.E A? 

 (a)     (b)       (c)        (d)    

1 

 l)  Power consumption (kwh) in arc welding is equal to  

(a)       (b)   

(c)                                                           (d) None of the above 

1 

 m)  The value of goods and services produced by any nation is called... 

 (a) budget  (b) Gross Domestic Product (GDP) (c) Balance Sheet (d) Contract 

1 

 n)  The financial or quantitative interpretation  prior to a predefined period of time of 

a policy to be pursued for that period to attain given objective or goal is called... 

(a) Contract    (b) Budget    (c) estimating    (d) None of this  

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 1 Explain the importance of costing and cost estimating in an industry 7 

 2 What are the qualities of good estimator? 7 

    

Q-3  Attempt all questions  

 1 State factor  affecting arc welding cost (any eight) 5 

 2 Explain procedure for estimating gas cutting welding. 5 

 3 Explain the characteristics of contract.  4 

 

 

   

Q-4  Attempt all questions (14) 

 1 Calculate B.E.P analytically. 7 

 2 Explain effect of changing various parameters on BEP. 7 
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Q-5 1 List the provision of different condition in a contract & explain (any three) 5 

 2 Define budget & State the benefits of budget. 5 

 3 State & explain advantages of cost analysis.(any six) 4 

    

Q-6  Attempt all questions (14) 

 1 Define following terms 

1) Gross- Domestic Product (GDP) 

2) Contract 

3) Market value 

4) Salvage Value 

5) Budget 

5 

 2 Useful life of a lathe machine is 10 years. It is used for 16 hours per day. Initial 

cost of lathe is Rs. 3, 20,000 and scrap value after 10 years is Rs. 32,000. 

Calculate rate of depreciation per hour. Factory is remaining close on every 

Sunday. Name the method you have used for calculating depreciation. 

5 

 3 Find out the break-even point analytically from the following data: 

(i) Total sales = Rs. 70,00,000                 (ii) Variable Cost  = Rs. 49, 00,000  

      (iii) Fixed Cost = Rs. 12,00,000                (vi) No. of components = 35,000 

4 

    

Q-7  Attempt all questions (14) 

 1 Explain Block Diagram  of Catalogue price & selling price with its equation  7 

 2 1 meter long and 8 mm thick two m.s. plates are to be welded on both sides by a 

lap joint by arc welding. Calculate the cost of welding. Assume following data 

a) Current -250Amp 

b) Voltage – 30 Volts 

c) Welding speed -10 meters/hour 

d) Electrode consumption -0.2 kg. /meter of weld 

e) Labour charges- Rs. 20/Hour 

f) Power Charges Rs. 4.50/Hour 

g) Cost if electrode – Rs. 60/kg 

h) Efficiency of machine – 80% 

 

 

7 

    

Q-8  Attempt all questions (14) 

 1 List the terminology associated with machine shop calculation explain three 5 

 2 Explain Types of patter allowance  5 

 3 Determine time required for  preparing M.S. Bolt M20×3mm by single point 

cutting cutting tool with a cutting speed 8 m/min and length of thread portion is 
4 
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40 mm no. of cut required for threading is 8 . 

 

ગજુયાતી 

Q-1  વાચો વલકલ્઩ ઩વદં કયો.    (14)  

 a)  D.G.S & D નુ ંપરંુૂ નાભ શુ ંછે? 

(a) Directorate general of supplies & disposals 

(b) Director of general supply & disposals  

(c) Director of general supply & dissipation 

(d) એક ઩ણ નહશ 

1 

 b)  કમા પ્રકાયના કયાયભા ંભાનલ ળક્તત પયૂી ઩ાડલાની જલાફદાયી કયાય કયનાયને આ઩લાભા ં
આલે છે? 

(a) રેફય કયાય  (b) વાભગ્રી કયાય   (c) ળેડયરુ કયાય  (d) ઉ઩યના તભાભ 

1 

 c)  ટોટર કોસ્ટનો જે ઘટક કે જેભા ંઉત્઩ાદનભા ંપેયપાય થલાથી જેની કુર હકંભત ભા ંક્યાયેમ પેય 
઩ડતો નથી તેને શુ ંકશલેામ? 

(a) ભાથાદીઠ હકંભત   (b) ચલરત હકંભત   (c) અચલરત(હપતવડ) હકંભત   (d) કુર હકંભત 

1 

 d)  જો યવુનટ દીઠ લેચાણ હકંભત $૨૦ શોમ, લેચાણ થમેર યવુનટ  ૮૦૦ શોમ અને  ઉત્઩ાદનની 
કુર હકંભત $૧૦૦૦૦ શોમ તો નપો કેટરો થામ? 

(a) $16,000    (b)    $40,000   (c)    $6,000   (d)     $5,700 

1 

 e)  વેલ્વ અને યેલન્ય ુહકંભત નુ ંસતુ્ર કયુ ંછે? 

(a) S = b×Q    (b) ) S = b+Q      (c) ) S = a×Q     (d) એક ઩ણ નહશ 

1 

 f)  કભમચાયીઓ અને ચોકીદાયોનો ઩ગાય, લીભાનુ ંપ્રીભીમભ, ઈભાયતનુ ંબાડુ ંળાના ઉદાશયણ 
છે? 

(a) ડામયેતટ હકંભત  (b) હપતવડ હકંભત   (c) ચલરત હકંભત    (d) એક ઩ણ નહશ 

1 

 g)  વેલ્વ અને યેલન્ય ુયેખા તથા કુર હકંભત યેખા જ્મા ંછેદે છે તે લફંદુને ‘No Profit No Loss’ કશલેામ છે. શુ ં
આ વાચુ ંછે?  

(a) શા                    (b) ના ં                    (c) કશી ના ંળકામ       (d) એક ઩ણ નહશ 

1 

 h)  ઉત્઩ાહદત ભારનો જથ્થો કે જ્મા ંકુર હકંભત અને કુર વેલ્વ યેલન્ય ુવયખા થામ છે તેને શુ ં
કશ ેછે? 

(a) બ્રેક ઇલન ઩ોઈન્ટ  (b) વેલ્વ ઩ોઈન્ટ  (c) યેલન્ય ુ઩ોઈન્ટ  (d) તલોન્ટીટી ઩ોઈન્ટ 

1 

 i)  સ્રેઈટ રાઈન ભેથડ નુ ંસતૂ્ર કયુ ંછે? જ્મા,ં N=રાઈપ (લ઴મભા)ં 

 

1 
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(a)        (b)       (c)         (d) None of this 

 j)  લેલ્ડંગ વભમ કેલી યીતે ળોધી ળકામ છે? 

(a)         (b) Welding length in m welding speed in m/hr. 

(c)          (d) એક ઩ણ નહશ 

1 

 k)  B.E.A. ભા ંકન્રીબળુન યેવળમોનુ ંસતૂ્ર કયુ ંછે? 

(a)     (b)       (c)        (d)    

1 

 l)  આકમ લેલ્ડંગભા ં઩ાલય લ઩યાળ (હકરોલોટ ઩ય કરાક) કેટરો શોમ છે?
  

(a) 
      (b)   

(c)                                                           (d) એક ઩ણ નહશ 

1 

 m)  કોઈ ઩ણ દેળ દ્વાયા ઉત્઩ાહદત થતા ભારવાભાન અને વેલાણ ેશુ ંકશલેામ? 

(a) ફજેટ   (b) ગ્રોવ ડોભેસ્સ્ટક પ્રોડતટ(GDP)  (c) ફેરેન્વ ળીટ   (d) કયાય 

1 

 n)  આ઩ેરા ધ્મેમને ઩શંચી લ઱લા  પલૂમ  વનવિત વભમગા઱ા ની  ઩ોરીવી તેટરા જ વભમભા ં
શાથ ધયામ તે ભાટે કયલાભા ંઆલતા નાણાકીમ અથલા જથ્થાહકમ અથમઘટનણે શુ ંકશ ેછે? 

(a) કયાય   (b) ફજેટ    (c) એસ્ટીભેટંગ   (d) એક ઩ણ નહશ 

1 

Q-2 to Q-8 mi>Y) ki[e pN cir p\âi[ni u_ir lKi[  
 

Q-2  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

 1 ઉદ્યોગો ભા ંકોસ્ટ અને કોસ્ટ એસ્ટીભેટંગ ગણતયીનુ ંભશત્લ વભજાલો. 7 

 2 વાયા એસ્ટીભેટય ના ંગણુો કમા છે?  7 

   

 
 

Q-3  નીચેના પ્રશ્નોના ઉત્તય આ઩ો.  

 1 આકમ લેલ્ડંગ ખચમને અવય કયતા ઩હયફ઱ો રખો. (કોઈ ઩ણ આઠ) 5 

 2 ગેવ કહટંગ લેલ્ડંગની ગણતયી ભાટેની યીત વભજાલો. 5 

 3 કયાયના રક્ષણો વભજાલો.  4 
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Q-4  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

 1 B.E.P. ની એનારીટીકરી ગણતયી કયો. 7 

 2 વલવલધ ઩ેયાવભટવમ ફદરતા તેની BEP ઩ય શુ ંઅવય થામ છે તે વભજાલો. 7 

    

Q-5  નીચેના પ્રશ્નોના ઉત્તય આ઩ો.  

 1 કયાય ભા ંપા઱લલાભા ંઆલેર વલવલધ ળયતો ની માદી ફનાલી કોઈ ઩ણ ત્રણ વભજાલો. 5 

 2 ફજેટ ની વ્માખ્મા આ઩ીતેના પામદા રખો. 5 

 3 ઩ડતય વલશ્રે઴ણ (કોસ્ટ એનારીવીવ)ના ંપામદાઓ રખો અને વભજાલો. (કોઈ ઩ણ છ) 4 

    

Q-6  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

 1 નીચેના ઩દોની વ્માખ્મા આ઩ો. 
૧) ગ્રોવ ડોભેસ્સ્ટક પ્રોડતટ (GDP)   ૨) કયાય   ૩) ભાકેટ લેલ્ય ુ ૪) વાલ્લેજ લેલ્ય ુ   ૫) ફજેટ 

5 

 2 રેથ ભવળન ન ુઉ઩મોગી જીલન ૧૦ લ઴મ છે. આ ભવળન એક હદલવ ભા ૧૬ કરાક ચારે છે . 

જો રેથ ની મરુભતૂ હકમ્ભત રૂ. ૩ ,૨૦,૦૦૦૦ શોમ અને ૧૦ લ઴મ ઩છી સ્રે઩ લૅલ્ય ુરૂ. 
૩૨,૦૦૦ તો ઘવાયા  નો દય પ્રવત કરાક પ્રભાણે ળોધો. પેતટયી લ઴મ ભા ંયવલલાય ના હદલવે 
ફધં યશ ેછે તભે ગણતયી કયલા ભાટે ઉ઩મોગ ભા ંરીધેર યીત નુ ંનાભ રખો 

5 

 3 નીચેની ભાહશતી ઩યથી બ્રેક ઇલન ઩ોઈન્ટ એનારીટીકરી ળોધો. 
૧) કુર લેચાણ=Rs. 70,00,000                 ૨) ચલરત ખચમ = Rs. 49, 00,000  

      ૩) હપતવડ ખચમ = Rs. 12,00,000                ૪) ઘટકની વખં્મા = 35,000 

4 

    

Q-7  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

 1 કેટરોગ હકંભત અને લેચાણ હકંભત સતૂ્ર વાથે બ્રોક ડામાગ્રાભ દોયી વભજાલો. 7 

 2 ૧ ભીટય રાફંી અને ૮ mm જાડી  ફે  MS પ્રેટને ફનેં  ફાજુ  રે઩  જોઈન્ટથી આકમ  લેલ્ડંગ દ્વાયા  

જોડલાભા ંઆલે છે. લેલ્ડંગ નો ખચમ ળોધો. આ઩ેર ભાહશતી નીચે મજુફ છે. 

1.           વલજપ્રલાશ ................... 250 Amp 

2. લોલ્ટજ   .....................30 V 

3. લેસ્લ્ડંગ સ્઩ીડ.............................  10m /hr. 

4. ઇરેકરોડનોલ઩યાળ............................. 0.2 kg/m of weld 

5. ભજૂયીખચમ.................................Rs.20/hr. 

6. ઩ાલયનીહકંભત..............................Rs. 4.50 / kwh 

7 
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7. ઇરેકરોડનીહકંભત.............................Rs 60/ kg 

8.           ભળીન ની કામમક્ષભતા ............................. 80 % 

    

Q-8  નીચેના પ્રશ્નોના ઉત્તય આ઩ો. (14) 

 1 ભળીન ળો઩ ગણતયી વાથે વકં઱ામેરા વલલધ ઩દોની માદી ફનાલી કોઈ ઩ણ ત્રણ 
વભજાલો. 

5 

 2 ઩ેટનમ એરોલન્વીવ ના ંપ્રકાય વભજાલો. 5 

 3 વવંગર ઩ોઈન્ટ કહટંગ ટરૂ દ્વાયા MS ફોલ્ટ M20 x 3 mm ફનાલતા રાગતો વભમ ળોધો. ટરૂની 
કહટંગ ઝડ઩ ૮ ભી/વભનીટ અને આંટાની રફંાઈ ૪૦ ભીભી છે. થે્રડંગ કયલા ભાટે જરૂયી 
કટની વખં્મા ૮ છે. 

4 

 


